

15/ENG02/003

Ench. A. D. J. P. O. I. O. N. E.
Computer Engineering

i) $y = e^{x^2+x}$ show that $y'' = y'(2x+1) + 2y$
 $y' = y'(2x+1) + 2y$

$$y'' = \frac{\delta^2 y}{\delta x^2} \quad ; \quad y' = \frac{\delta y}{\delta x}$$

$$\frac{\delta y}{\delta x} = (2x+1)e^{x^2+x}$$

$$\frac{\delta^2 y}{\delta x^2} = (2x+1)(2x+1)e^{x^2+x} + 2e^{2x+x}$$

$$= (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$= (4x^2 + 4x + 1)e^{x^2+x} + 2e^{x^2+x}$$
$$= (4x^2 + 4x + 3)e^{x^2+x}$$

Sub LHS and RHS

$$(4x^2 + 4x + 3)e^{x^2+x} = (2x+1)e^{x^2+x}(2x+1) + 2(e^{x^2+x})$$

$$= (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$= (4x^2 + 4x + 1 + 2)e^{x^2+x}$$

$$= (4x^2 + 4x + 3)e^{x^2+x}$$

$$(4x^2 + 4x + 3)e^{x^2+x} = (4x^2 + 4x + 3)e^{x^2+x}$$

$$\therefore y'' = y'(2x+1) + 2y$$

ii) $y'' = y'(2x+1) + 2y$

$$y'' - y'(2x+1) - 2y = 0$$

$$\text{let } y'' = w$$

$$v = 1 \quad v' = 0$$

$$w = y'' \quad v^n = y^{(n+2)}$$

$$w^n = v^n v + n v^{n-1} v'$$

$$= y^{(n+2)} + 0$$

$$\text{let } w = -y'(2x+1)$$

$$v = 2x+1 \quad v' = 2 \quad v'' = 0$$

$$0 = -y' \quad v^n = -y^{n+1}$$

$$w^n = u^n v + n u^{n-1} v' + n(n-1) u^{n-2} v''$$

$$= y^{n+1} (2x+1) + n(-y^{n+1}) (2) + 0$$

$$= -y^{n+1} (2x+1) + 2n(-y^n)$$

$$\text{let } w = -2y$$

$$v = -2 \quad v' = 0$$

$$u = y \quad u^n = y^n$$

$$w^n = u^n v + n u^{n-1} v'$$

$$= y^n \cdot 0 + 0 = 0$$

$$\therefore y^n = -2y^n$$

$$\therefore y^{n+2} - y^{n+1} (2x+1) + 2n(-y^n) - 2y^2$$

$$y^{n+2} - y^{n+1} (2x+1) + 2n(-y^n) - 2y^2 = 0$$

$$y^{n+2} - y^{n+1} (2x+1) - 2y^n (n+1) = 0$$

$$y^{n+2} = y^{n+1} (2x+1) + 2y^n (n+1)$$

2) $y = x^3 e^{4x}$ find y^5

$$v = x^3; v' = 3x^2, v'' = 6x, v''' = 6, v^{(4)} = 0$$

$$u^4 = 256e^{4x} \quad u^5 = 1624e^{4x}$$

$$y^n = u^n v + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' + \frac{n(n-1)(n-2)}{3!} u^{n-3} v'''$$

$$+ \frac{n(n-1)(n-2)(n-3)}{4!} u^{n-4} v^{(4)}$$

$$y^5 = 1024e^{4x} (x^3) + 1536e^{4x} (3x^2) + 60e^{4x} (6x) + 2e^{4x} (168)$$

$$y^5 = x^3 248e^{4x} + 4608e^{4x} + 360e^{4x} + 32e^{4x}$$

$$y^5 = 64e^{4x} (16x^3 + 60x^2 + 60x + 15)$$

a) $x^2 \frac{dy}{dx} + x \frac{dy}{dx} + y = 0$

$$x^2 y' + xy + y = 0$$

$$\text{let } w = xy^2$$

$$v = x^2, v' = 2x, v'' = 2, v''' = 0$$

$$u = y^2, u^n = y^{n+2}$$

$$w^n = u^n v + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' + \frac{n(n-1)(n-2)}{3!} u^{n-3} v'''$$

$$= y^{n+2} (x^2) + n(y^{n+2}) 2x + \frac{n(n-1)}{2!} (y^{n+2}) (2)$$

$$= x^2 y^{n+2} + 2xn(y^{n+2}) + n(n-1)y^n$$

$$\text{let } w = xy$$

$$v = 2, \quad v' = 1, \quad v'' = 0$$

$$u = y, \quad u^n = y^{n+1}$$

$$w^n = y^{n+1} (2x) + 2(y^{n+1-1}) (1) + 1$$

$$= 2xy^{n+1} + ny^n$$

$$\text{let } w = y$$

$$v = 1, \quad v' = 0$$

$$u = y, \quad u^n = y^n$$

$$w^n = y^n$$

$$y^n = x^2 y^{n+2} + 2xn(y^{n+1}) + n(n-1)y^n + xy^{n+1} + ny^n + y$$

$$x^2 y^{n+2} + (2n+1)x y^{n+1} + (n^2 - n + n + 1)y^n = 0$$

$$x^2 y^{n+2} + (2n+1)x y^{n+1} + (n^2 + 1)y^n = 0$$

5/10/20